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P_&ssuit Uni\fersét}f Basic Lducation Section: (Mathematics)
Faculty of Education 1¥ Year - First Term Faxam
Dept. of Curricula & Instruction January 2012

English Language

Answer all the following questions: (Note that questions are written

on both sides of the paper).

1]- Write a short composition on_one of the following topics: (20

marls)

1- Why have you decided to join the Faculty of Education?
2- The main qualities that a good teacher should possess.

2]- Read the following passage and answer the questions: (25 marks)

Listening to Tnglish is one of the most Important things you can do to
improve your English. Listening to songs can be useful in helping you to
“feel” the language. On television, you have a big choice of programmes:
films, chat shows, documentaries, news. Radio is another excellent way
to practise your English. You can watch films in English on video at
home. In some countries, you can watch films in English at the cinema,
Watching with video is a very good method because you can replay parts
that you do not understand. Speaking linglish is one thing that you cannot
do alone. You should make a big effort to tind somebody [or
conversation practice. Reading is an excellent way to leurn new
vocabulary. But you need to read the right level of Fnglish. If it Is too
difficult, you may become discouraged. If it is too easy, you will make no
progress. Practise your English by writing letters to a pen friend. Today,
with the Internet, this is very edsy. You can exchange letters by email.

A] What are the four basic language skills mentioned in the passage?

B] Mention some examples of the media that may help in improving the
LEnglish listening skill.

| What distinguishes speaking from the other language skills?

D| What is ihe significance of choosing the appropriate reading level?

F] What is the best way to practise the writing skill in learning a foreign
language?



3| _Fill in each blank with the correct verb between brackets: {20
marks)

a) If you call Ahmad, he will ~——ee- you the money that you necd.
[borrow / lend/ loan].

b) Soha had to choose --—--— (i ree colleges she might join. [among/
beside/ between],

¢) You have to -—--—-— famous theorists in your answer, [site / sight/
cite].

d) She grew up on a - and knows how to churn butter. Idiary / has
daily/ dairy].

) A -———— -fitting jacket was more suitable than a shawl. [ lose / loose/
louse]. 3

4] Translate the following lines into Arabie: (20 marks)

It must have been about two in the mormn ing when I returned home. 1 tried
to wake up my wife by ringing the door-bell, but she was fast asleep, so |
got a ladder from the shed in the garden, put it against the wall, and began
climbing towards the bedroom window, 1 was almost there when a
sarcastic voice below said, “I don’t think the windows need cleaning at
this time of the night.” I looked down and nearly fell off the ladder when
I saw a policeman. I immediately regretied answering in the way 1 did,
but I said, “T enjoy cleaning windows at night.” “So do 1,” answered the
policeman in the same tone. “Excuse my interrupting you. I hate to
interrupt a man when he is busy working, but would you mind coming
with me to the station?” '

3] Do as shown between each of the following brackets: (20 marks)
A] Sorry for not meeting you vesterday. 1 (work) all day. [Put the verb
between parentheses in the most suitable tense].

B] I gave an apple to the poor boy. [Rewrite after omitting the
underlined word, making the necessary changes in word order].

C] They might call us later. | Change this affirmative siatement
into a negative question|,

D] I haven't seen this old lricnd ---—--- about 10 vears.  [Fill in the blank
with either (sinee) or (for)].

E] He --------- in bed [or a week. [Choose the right word from the

following: has laid / has lain/ lay|.
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